
  

___________________________________________________________________________________________ 
DTUS067 Rev A1  -  September 20, 2019 

Assembly instructions for 

WL-MAST-PLT plate 

Assembly for RailBox / RuggedAir / WLg-ABOARD / WLn-RailBox 

 

 

 

 

 

 

 

 

 

 
1 or 2 products :  2x M6 screws, 2x Ø6 washers for each product 

Assembly for WLn-ABOARD 

 

 

 

 

 

 

 

 

 

 
 

Only one product : 3x M5 screws, 3x Ø5 washers  

Back 

side 

Front 

side 



Assembly for AirXroad / WLn-xROAD / WLg-xROAD 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 

1 or 2 products: 2x M4 screws, 2x M4 nuts, 2x Ø4 washers for each product 

Characteristics 
-  Package:  
       - 1 plate 
        - 2 mast mounting kits with nuts 
        - 1 fastening kit for 2 RailBox/RuggedAIR/WLg-ABOARD/WLn-RailBox 
        - 1 fastening kit for 2 AirXroad/WLg-xROAD/WLn-xROAD 
        - 1 fastening kit for 1 WLn-ABOARD 
        - This documentation 

 
-  Dimensions:  
        285 x 270 x 61 mm 
        (11.22 x 10.63 x 2.4 inches) 

 
-  Material:  
        Stainless steel 
        thickness 3 mm  
        (0.12 inches) 
 
-  Weight:  
        2.35 Kg (without product) 
         (5.18 lbs) 

 
-  Mounting on:  
        Round mast 
        Ø32 to Ø50 mm 
        (Ø1.25 to Ø2 inches) 

        with included fixings 
 
-  Additional fixings:  
        -  4 x Ø16.5 mm holes 
           (4 x Ø0.65 inches) 
           for N-type antennas 
        -  Additional holes for  
           Earth screw anchors 
 
 

All dimensions 

in mm 

Back 

side 

Front 

side 

AirXroad/ WLg-xROAD 

WLn-xROAD 


